N & 0 & g g A
20138 & 20l & LB H S#HE XML A ~ SHETJAAISE A
SH BATAAL A
M HIIE2 AME Hel
©9l: HOlE SEH2ANE el (29l 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
St KR AFE A 1,412,942 1,422,474 N9,532
HII2 fI4H Hel 915,147 557,190 357,957
HIIZ2 SEXAlE 22 839,690 482,168 357,522
HIIES S&XelAld 22l 839,690 482,168 357,522
101 @121l 27,282 44 478 AN 17,196
04 JI2ZtH2Z2XNEE S 27,282 44,478 A 17,196
O=tEAXIAANGA =8 Ex=MAH
40,2003 *5H *3 «23] 1,206
O=tH0Ig& o1t 26,076
—-J23 46,2403 187 x1H 8,647
—J|ZxE 1,537,000& *50%*33] 2,306
—&d2Y 1,537,000& x5%*23] 154
—JtEs4 80,000 x9& x1H 720
— M= ctAY| 1,537,000& *50%*33] 2,306
—Sxg2xg 90,000 *x9& x1H 810
— &&= 70,0003 x9& x1H 630
— JEZAH| 160,000 x9& x1H 1,440
— JtH 2 £ H| 110,000 x9& »1H 990
— s 2 x| 140,000 *9& x1H 1,260
— @ E F Il 1,537,000& *60%*23] 1,845
—XU22FE 5,780& *150%*30 Al 2t x9 & 2,341
—F5422xg 46,2403 *150%*4x9& 2,497
— I =l 130, 000& x 13 130
201 et A | 113,788 136,561 N22,773
01 AFR2t2l bl 32,046 29,345 2,701
O AMEZS HIIZHEANE =& Z A 6,482
— &&= A A 320,800& 123 *1JH & 3,850
— 2=t M 2 =2 Z A
164,500& *43] 1l A 658
— XISt =& & Att] 164,500 *43] *30H 2 1,974
OAMEZZ2 HIISHEAE E L =E2AAH| 24,384
— KotE =B AHI(ZH, H Y, HE)
137,800& *43| 7l A 3,859
— Xlots £=ZEB A (&HA)
137,800& *123] 3l A~ 4,961
— ot& = =Z A AtH| 27 ,000& *43| *8 M A 864
— EAAT A A 918,700 x 13| x 16 A~ 14,700
O =t 980
— A= 200,000& 2 400
— gst=s 200,000& = 1& 200
— &3t 50,000& =22 & 100
— HrRE A 500& *200 4 100

_1_




2N BERRAAL L
ol B2 AN Hel

S HIIE SEMelALE 2l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—2ANDEE2 900& *200H 180
O=ZgHd Ed #¢ 200,000& x13l 200
02 23224l 81,742 107,216 N25,474
O332= 49,097
—MILQB(sEHIISSEHAL) 42,000
—HIIRB(MBRAMH)
17,0002 *20f &+ 128 408
— &Dlotd 2t T &y 272,360 128 3,269
— 2o1Z 24| 120,000 128 1,440
— &Gt 65,0002 12& 780
— oY ¥ AL sS=4E 100,000& 122 1,200
OMEEALE =&KX bl 2,000
OXgEE= 300,000 =404 1,200
OXtg & A48I|HEH KX b
1,200,000 »40TH 4,800
OXt&EH =l 21,645
— 30X 1,850& %1,400£ 10K 2,590
—HEE=4D 1,850& +5,300£ ~1CH 9,805
—HEEEZEH 1,850% *4,4004 *1CH 8,140
— A8 ZEAI 1,850& 6004 1CH 1,110
OEd A=t 3,000
202 oddl 2,000 2,000 0
01 SLHOYI 2,000 2,000 0
SEHJIS SEgM2YR =& 2,000
206 M= Hl 5,820 19,233 A 13,413
01 =8l 5,820 19,233 A 13,413
OH=HXel%Z 3,000
OEdE 2=4+3 35,0003 #523] x 104 & 1,820
ONgx sHI NEAE(Zs2s)
500,000& 2= 1,000
207 A RO 20,000 0 20,000
01 A3l 20,000 0 20,000
OMEEZEZ HEE FHEE JdSXZA 229 20,000
307 glz2tol & 70,000 0 70,000
05 RIZHRI &t 3 70,000 0 70,000
ONgsH8Y QUAAE 70,000
401 AIEHI L 2 CHYI 600,800 180,396 420,404
01 A& HI 600,000 179,500 420,500
OFAME Z 26 MY =L S A 600,000
03 AIE 2 THHI 800 896 A 96
OZAHMEE 26H MY =S SA 800




2N

SIATAAS A

M HYlE AYE HMel
Sl ATHA O X AHY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AUTH A5 01 L KT AF 75,457 75,022 435
HOIROtA SHEAIE 2H 75,457 75,022 435
201 €24 24,752 19,572 5,180
01 At 22l 3,436 4,756 A 1,320
O=&3AN =& 23,0003 6o 2o x12& 1,656
ONEIA == A 300,000& =43| 1,200
ou=l 580
— gst= 200,000 »1H 200
— &g 50,0003 =1 22 ¢l 100
— B DEE 500& 2004 100
—2EIDEFZ 900& *200H 180
02 =224l 21,316 14,816 6,500
ONArddEI RFANES 13,900
— 2 BtE I 1,000,000 12& 12,000
— Qg uns 200, 000& *32] 600
— 2= 300
—2HNMILARE B2 1,000
OEZER 29 I EZFWE 100,000 = 120K 1,200
OAaEgde] 2 & FH| 1,216
oOsdHAa=gd 3,000
OANEEH RANESH(AZ2HEEFY) 2,000
206 T 24 50,705 55,450 A4,745
01 =8l 50,705 55,450 N4, 745
OHI0I2ItA SHEAIE 24 SH| 50,705
—OEs 42,705
— 22N 800& *5,000L*23] 8,000
HH2 AU (FSTAAL L) 8,720 8,720 0
JlEZl 5,280 5,280 0
o=l 5,280 5,280 0
202 o4dl 5,280 5,280 0
01 = LH o4 1l 5,280 5,280 0
FA2E U0 5,280
ola 2| 3,440 3,440 0
ol 2AH| 3,440 3,440 0
203 R =&t 3,440 3,440 0
02 §3 ety S =2 440 440 0
OFSE- ) Fogee B P | 40,0003 114 440
04 FANSEHE=LH 3,000 3,000 0
ORN2IYSZ=AHI 250,000& 128 3,000

_3_




FN: 3T A A

HH: WRES(HZ N AL L)

e LHEHHX S (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
MEess(SHARNRAAAA) 489,075 856,564 A 367,489
WEAHAHXI= 489,075 856,564 A 367,489
LHE el 489,075 856,564 A 367,489
701 JD|EIS| HE =2 489,075 856,564 A 367,489
01 JIEISI HEE2 489,075 856,564 A 367,489
O deld & NAIE 2HH 2HIE
== 489,075




